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Breadth of a rectangle is 27 cm less than its length. If the perimeter is 3E6 cm
then its length and breadth are respectively

a) 100cm, 73cm b) 80cm, 53cm ¢) 90cm, 63cm d) 103,5cm, 76.5¢cm
GlFsuatsQIDTHINsT SIHs0WTaSEl H6m Benhmeall 2768 E&emmans

o gienal. &mmene] 36 66lF.f s Bl oFblssinahHlar HemD, EHeiDd
(penBEiL :

a) 1L00cm, 73cm b) 80cm, 53cm ¢) 90cm, 63cm d) 103,5cm, 76.5¢cm

A is younger than B. Seven times the difference between theirages isequal to
sum of their ages. Ratio of B's age after 12 years and A's present age is 5: 3 then
what is A’s present age? P\

a) 30years b) 36years ¢) 42years d) 48years

A o B si@Guinmer A Glsnsmiisui. @i senlen euuimistion  aildsuiresals
7 DLBISTENHl Slsuiderlel euLIFIEaNsT SmbHSGHF Fow. 12 HeHThEEHEGL
Ume B ulsnm suwimnn A wisi gsf_ij@ﬂﬂ@g,m AAID 5 3 eTelp sllBlHHH 60
Bmidst Al HHEUTDEL aLE s

a) 30 au(mLMmISsi : b) 36 su(HLmissiT

c) 42 augplitubeit o d) 48 au(hl sl

Distance fb_efWeén the points(a, b) and (-a, -b) is

a)2a b) O ¢) 2a+ 2b d) ¥YaZ + b2
Lsirefiaatt (a, b) wmane (-3, -b) sySuempSines  Eemi o’ L s

a) 2a b)0 c) 2a+ 2b d) Va2 + b2

Rational form equivalent to the rotating decimal fraction 0.090909 -----—- —is
90909 11

a) — b) ¢c)— d) —
00 1000000 100 11
0.090909 GIGNB  FIP6U HFD STEOEINBEG FOIOTET alGSIHIPM 616w 61517
a)i b) 90909 c]l—l d)—l-

100 1000000 100 11
If CAMEL is coded as XZNVO then TIGER is coded as
a) SQlvp b) PSQIV c) GIRVT d) GRTVI

CAMEL atsitugl XZNVO et @plull Lrsy @pissiup@nal siaiso TIGER
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srenens 05 @Giull wenpuieh seemaiTe @GNids BCeusn(Hn?
a) sQivp b) PSQIV ¢) GIRVT d) GRTVI

A Railway clock strikes once at 1 O’clock, twice at 2 0’ clock and so on. How many
strokes will it strike a day?

a) 300 b) 156 c) 250 d) 78

@ Gpulsh Blewsow swETRD 1 wes@EG @@STD, 2 wenlde EreNl Hw,
STEeUTNY Lol @ed&EHIT SIMDSEIUL IYHHETE0, @ BTN DHSBQSTJLD
el RECHHH 6N  H16TT600 56D H

a) 300 b) 156 c) 250 d) 78

Next term of the sequence 0.02, 0.006, 0.0018,..... is

a) 0.0054 b) 0.0036 c) 0.00054 d) 0.00036
0.02, 0.006, 0.0018,..... ety GETLisuTengillien 2iB6H5 2 miy asl]

a) 0.0054 b) 0.0036 c) 0.00054 d) 0:00036

Two angles are in the ratio 4:9.and their supplementaryangles are in the ratio 8:
3 then the two angles are respectively

a) 60, 135 b) 30, 80 c) 40,90 d) 80, 30

@uenp Carmmsst 4: 9 e eldHHHeNs @EunysT Lms Biniys
Gamammaimstt 8: 3 alsiim sllSlBSEHaND Dalesn sailsh oisuailm GaHTsmmaisar
(pemmBBEiL

a) 60, 135 b)30;,80°% ©  ¢)40,90 d) 80, 30

A sum invested under compound interest doubles itselfin 10 years. In how many
years willit become 8 times of the initial amount?

a) 80 years b) 40 years c) 30 years d) 20 years

(b eulip penmuisy wpsedlh GFlwiu L @ Gsrenswursigsl 10

s anhsaise S wirdins selse Gem ds oFsmeoll Bursd 8 WL AIsTH
aIREHFHIS CBHTETEHD aHLID 6T6uaI6Te)Y

a) 80 years b) 40 years c) 30 years d) 20 years

A sum of Rs 2,500 deposited in a bank gives an interest of Rs 100 in 6 months.
What will be the interest on Rs 3,200 for 9 months at the same rate of interest?
a) Rs 200 b) Rs 192 ¢)Rs 180 d) Rs 210

@@ aum@ulsy 6 ITEBEEDSE: (psedh et miFd 52,500 & ai'ig
100 dlsn_d&asmml aailsy 2Bx a'ly sissHme woTemsEhds Few (53,200
B DDLSHID aul 19 sTeNesTEY7

a)Rs 200 b) Rs 192 c)Rs 180 d) Rs 210
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State the number of significant figures in the following

i) 600 900 ii) 5212.0 i) 6.320 iv) 0.0631
a)a,5,4,3 b)5,4,3,4 c)3,4,5, 4 d) s, 4,4, 3
Llsisumeusmeuinist 2 siTen (W@l sTeulamlHBSENT  sipSl

i) 600900 ii) 5212.0 iii) 6.320 iv) 0.0631
a)4,5, 4,3 b)5, 4,3, 4 c)3,4,5,4 d)5, 4,43

Which of the following is not a leap year?

a) 800 b) 1200 ) 2000 d) 2100
BBHHN_sUDMIST 6151 a0 &IHLID 50607

a) 800 b) 1200 c) 2000 d) 2100

One third of, one half of, one fifth of a number is 15. Find the number

a) 450 b) 45 c) 540 d) 400

@ eremenilsi cpefied D(H UBISsT @Tegsd PEH UBS ST SIBHEH DD LG
15 aieiled BH IS BIGNIS.

a) 450 b) 45 c) 540 d) 400

The sum of four consecutive even integers is 1284/ Find the greatest

a) 320 b) 322 c)324 d) 326

BisG Sbsshss Byl liumie (m{@&,&',a‘ﬁem amhdHsu 1284 erailey ieuBslsd
Gufiw stemr 613?

a) 320 h) 322 c)324 d) 326

696996676979669779667howmany 7’s have a 6 before and after?
a)1 o 4 & b) 2 c)3 d) 4
69699667697966977966 7 Gumssi OsTLfsd Byl 6 Syb
GlmTamIdh@ HHEI 7 S G601 GTHHMET HLENA QIIHID 660 Fnml?

a)l b) 2 c)3 d) 4

A sum of money becomes 1. 331 times in 3 yearsas compound interest. The rate
of interest is

a) 50% b) 8% c)7.5% d) 10%

am Oartams e aumLAsdey gl (f iy alsssdsy 1331 wemsnisns
BIGIMITE0 24%hedl eul1g SIS slsiisusTiey?

a) 50% b) 8% c)7.5% d) 10%

The difference between the interest received from two different banks on Rs 500
for 2 years is Rs 2.50. The different between their rates is
a)1% b) 0.5% c)2.5% d) 0.25%
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mpuTUl S00&%@ 2 syembEalsy Eiyenl sunidsaien Hefsul lpullei 6 dE D
f1h2.50 slelleh Dieheubichlberion afihmiboriidaieon. Guiuimsn allhslnand slshaeray?
a)l% b) 0.5% c)2.5% d) 0.25%

A number of two digits has 3 for its unit’s digits and the sum of digits is 1/7 of the
number itself. Find the number

a)43 b) 53 c)63 d) 73

@enilh @Heubs sTeNENIN @MTeNS BL WaHIIY 3, Elevssnismals Fnhas
Db eTemiamner 1/7 WLMIE, seilsh Db sTeHIeNaNE  SHTamT

a) 43 b) 53 c)63 d) 73

IfA:B: C=2:3:4then A/B: B/C: C/Ais equal to

a)4:9:16 b) 8: 9: 12 c)8:9:16 d)8:9:24
A:B:C=2:3:4 qiaifisd A/B: B/C: C/A-6i oA ST _
a)4:9:16 b) 8:9: 12 c)8:9:16 d)8:9:24

In 2010, the population of a town is 1,50,000. If it is increased by 10% in the next
year. Find the population in 2011

a) 2,00,000 b) 1,80,000 c) 1,65,000 d) 1,75,000

2010- sb @m FEHEISSHE WHssT Borams 1,950,000 SihsHs @wmgs: s 10%
Gum@SwTsmse 2011- 60 WHEET  GHT@HE WS HT65IE

a) 2,00,000 b) 1,80,000 €) 1,65,000 d) 1,75,000

If the diameter of a bicycle wheel is'63 cm, then the distance covered by its wheel
in 20 revolutions is.

a) 50 m 28cm +b) 43m 34cm ¢)51m 30cm d) 39m 60 cm

R0 Uinasngs FeESBIHH sl L1 63 GFif seish, 2uE 20 HBDIHST
smmisimsl. BLBHH0 GlHTensoalishn ey

a) 50m 28cm b) 43m 34cm ¢) 51m 30cm d) 39m 60 cm

x4 : 4 2y—x
If £ = = then find value of = + ( ! t)
¥ 5 7 2y+x

a)> b)1 c) 12 d) 2

= 2o E+(2""_"‘) g WL e

x
v 5 T

a) ; b)1 c) 1% d) 2

2y+x

. 3
If a and b are two non- zero rational numbers and —— = a + b+/3, then the

243
2-v3

value of b is

a)d b)7 c)6 d) 8
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2

J::E =a + b3,

awbn b sydiusn GmusFfuenm Sswpm CuSsT WwHnID -
sraien b- & WSy srenis

a)a b) 7 c)6 d) 8

Given the language L = (ab, aa, baa), which of the following strings are in L?

1) abaabaaabaa 2) aaaabaaaa 3) baaaaabaaaab 4) baaaaabaa
a)l,2and3 b)2,3and 4 c)1,2and 4 d)1,3and4

L = (ab, aa, baa), steiim  Guomiplulled Fpssemiaubmled ohd ATTHMBBMmN L- 60
D 5ITSTIADT.

1) abaabaaabaa 2) aaaabaaaa 3) baaaaabaaaab 4) baaaaabaa
a)l,2and3 b)2,3and 4 c)1,2and 4 d)1,3and4

How many times do the hands of a clock coincide in a day?

a) 24 b) 20 c)21 d) 22

RO HIE60 TSN (LPsHB BlsT] (WPLH6T paimbolarsim Eamsmijb?
a) 24 b) 20 c)21 dl 22 =)

A rectangular water tank is 8m high, 6m long and 2.5'm _v’v.idé. How many liters of
water can it hold?

a) 120 litres b) 1200 litres.

c) 12000 litres d) 120000litres

8if o wipb 6if memb wmmpd 2.368 SIS B GFaas Hemtt

GBI IQUIsy sTHHemasn 501 i Hemenli GsTsiemin?

a) 120 litres b) 1200 litres

c) 12000 litres d) 120000litres

What would be the measure of the diagonal of a square whose area is equal to
882 cm?

a) 38cm b)32cm c)42cm d) 48 cm

QM FHIHHN Ui 882 #.0F. aelst ibhd FHRITHH omeveill L SHa5600
BT VI (o o g

a) 38cm b)32cm c)42cm d) 48 cm

Tharun makes a deposit of Rs. Two lakhs in a bank for 5 years. If the rate of
interest is 8% per annum. Find the maturity value at the end of 5 years.

a) 2,20,000 b) 2,80,000 c) 2,40,000 d) 2,60,000

FHmeodl @ed(h vl F mHUTeDL S5 S ewBEEhaE @i aimdulsd Birhsy msulish
HILHH0 wpHaih GFElsSipnr. oeams syt rarmss 8% Saieul
HOHBIMEH slasd 5 enihHeT (galsh DEUMHBE SamLsED Gurhds Csrams
6IG16UGTEY7
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a) 2,20,000 b) 2,80,000 ¢) 2,40,000 d) 2,60,000

If the area of two spheres are in the ratio 1: 4 then the ratio of their volumes is
a)l:2 b)1:4 c)1:8 d) 16

Bim Camemmsenian ugliuenailsar sal@lsn 1 4 selsy DMl & DieTe 6
a)l:2 b)1: 4 c)1:8 d) 1.6

If x% of yis 100 and y% of z is 200, then the relation between xand z is

a)z=4x b)z=x/2 c)z=2x d)z=x/4

y &t X% aichiigsl 100 sieusyld Z &l Y% elsiilil 200 eiailst X H@WD Z HHMD 2 sl
Gy

a)z=4x b)z=x/2 c)z=2x dz=x/4

The sum of the numbers is 12 and their product is 35, What is the sum of the
reciprocals of these numbers? -
a)12/35 b) 1/35 c)35/8 d) 7/32

@M aeisaisn amHe 12 wngd Semper CumpssnueT . 35 o5h5
sTemIBaTen SHemeuduisT FBoHemend STam '

a)12/35 b) 1/35 c) 35/8 d) 7/32

Find the missing number

a) 327" b) 386
all(BUI L &Te0N  HT6m01E

b) 386 c) 438 d) 469

The H.C.F and L.C.M of two numbers are 50 and 250 respectively. If the first
number is divided by2, the quotient is 50. Find the second number
a) 50 b) 100 c) 125 d) 250
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@im asossien W.0uT.en whpib 1B.6UT wsmBGw 50 wHmb 250 (WHEH
oleuilemeanl 2-60 sdihbGHl BGuiigl w6y 50 sleilch @erdiimeugl sleadicnsmnld Hilel
a) 50 b) 100 c) 125 d) 250

Find the missing number

a) 22 b) 30
(VTN T TS 1 v o SO o1 e 3

Va I\
£ ¥ N\ 6 6 /

4 \\
4 12 \\
s/

4 5
a) 22 b) 30

1"'
/

rd

21

Consider the following:

6
| i ]}
Which one of the féllowing conclusions can be drawn from these figures?
a) The areas of the three fi'gures are all different
b) The areas of all the three figure are equal
c) The perimeters of the three figures are equal
d) The perimeters of figures | and Il are equal

6
| I
BLUSSHNL (PYRSETsy 61HFH (WPplpsnsy GCLoM&EsiL LILMISSTG (psld s(hoEsuTiD?
a) apam UL rsetish upliuensy @emys6leTaim Camurn mE o 6isms
b) apeim UL miSstiled LFUILISTE ST FIOWTE 266N
C) eparml LILTAIEETMN HDMETOEBGEIHD FIOOTEH 2 GT6THI
d) (pHeLTD WHmND GEFewimd UL mSalsl &hmans] Fom

43.  The mean proportional between 0.02 and 0. 32 is
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a)0.3 b)0.08 c)0.16 d) 0.34
0. 02 woimue 0.32 —si FFrFf lHHHms SsmihLiig
a)o.3 b) 0. 08 c)0.16 d) 0.34

The number divisible by 3 is

a) 1486079821 b) 2222222222 c) 3333133331 d) 1212121221
3-oi60 UHLIL SHFnlgll  TEHN

a) 1486079821 b) 2222222222 c) 3333133331 d) 1212121221

The HCF and LCM of two numbers m and n are 6 and 210 respectively. If m+n =
72 then i +-§ is equal to

1 2 3 5
a) — b) - S [ d) &

m mand N A Bus aaasater 10.Guren winne 0. . oyems pamtul 6

1 .
wmmitb 210 & 2 swensl Gosuld M+ n = 72 saflsv --+-l- B@EF FLOWTDIH 61517
m s )

1 2 3 i Sk, ¥
25 b) 35 ¢35 45 )

IfA:B=2:3,B:C=4:5,C D=6:7 then find A: B :C:0
a) 16:22:30: 34 b) 16; 24: 15: 35 c) 16: 24;: 30:35 d) 18: 24:30: 35
A:B=2:3, B:C=4:5,C: D= 6:7 sisfisc’ A% B; C: D svoum
a) 16:22:30: 34 b) 16: 24: 15: 35 €)16: 24: 30: 35 d) 18: 24:30: 35

After spending 40% on machinery'25% on building 15% on raw material and 5%
on furniture, a small scale industry owner had a balance of Rs 1,30,500. Total
money with him (in.rupees) was

a) 7,39,500 ., b) 8,70,000 c) 7,56,900 d) 7,22,500

@ ABpsSE Gsmfnatensuuis upssomen Gorss Garemsuist 40% Hams
GBS GUTmeTHsEHSTA0, 25% SMELD &Ll HaHarEan, 15% Has
ApsuLIGILTHL Hall suThISaI0, 5% Hd WIFFTOTEEEhESETAD Gasosulshs
misneulist sID ¢51,30,500 smeubHISTEINT 6laleh, Ui HUHHBHHS CILOTHS
Olm TN LITTH]

a) 7,39,500 b) 8,70,000 ¢) 7,56,900 d) 7,22,500

Find the C.I on Rs 15,625 at 8% for 3 years compounded annually

a) 4058 b) 4508 c) 4500 d) 4048
mpumu 15,625 @ syemih sy 8% aeisy 3 suani(hEEhHEG Fal (Haul 1
ST

a) 4058 b) 4508 c) 4500 d) 4048

49.  The sum of three consecutive numbers is 87. Find the greatest number
a) 26 b) 28 c)29 d) 30
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apiml 2bHEHHEHS aTanEesn aEmBHeo 87. summish Qufiu semementds Smen
a) 26 b) 28 c)29 d) 30

If 30% of (B- A) is equal to 18% of (A+ B) then the ratio A: B is equal to
a)l:4 b)4:1 G)i1:2 d)2:1
(B- A)air 30% 10 (A+B) s 18% 10 &ioih A: B uimeng s1sm@ FI0iD
a)l:4 b)4:1 c) 12 d)2:1

30% of x is equal to 60% of ythen x:y is

a)l:2 b)2:1 c) 30: 60 d)3:6
X 61 30% areiiugl Y- wilsi 60% M@ Fob sianay Xy =

a)l: 2 b)2:1 c) 30: 60 d)3:6

Given below are the series of specific pattern

5 i3 29 61 125 253

7 (@ (b))  (e) (d)  (e)

What will come in place of (d)?

a) 77 b) 127 c) 143 d) 157

#0 GaThéssiul L UL o &sdlmamaras. Ginrsi. mesTisstsh (d) er
WG ST6NIE

5 13 29 61 125 253

7 (a) (€) (d) (e

a)77 ¢ ] b) 127 c) 143 d) 157

6 men can complete a work in 50 days. In how many days 10 men finish the same
work?

a) 35 b) 45 c)30 d) 40

any S sell wh Geusnevenid 30 B Satiisd (gl sellst 10 S il
SThHEGM BT Eaer ihs Csousnsvan (plmiseT!

a) 35 b) 45 c) 30 d) 40

The surface area of a cube is 384 cm”. Find its volume

a)512em’ b) 412cm’ c) 346cm’ d) 343cm’
sAFHITEHT Lyl 384 cm’ aiefien Dimer Ha T oV I (i
a)512cm’ b) 412cm’ c) 346cm”’ d) 343cm’
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Find the difference between simple interest and compound interest for a sum of
Rs 8,000 |ent at 10% p.a in 2years

a)Rs 80 b) Rs 800 c)Rs 40 d) Rs 400

apumll 8,000 4@ 10% sule eimlb sieiish Gijsoih DLeHhHeITe0 Henl b
gl ([ Ul 1gsH@HD SN Ul RE@D 2 66 al&HLUTTFhHmSHS SIS

a)Rs 80 b) Rs 800 c)Rs 40 d) Rs 400

. e (162X162)—(18x18)
Simplify:
plify 144

a) 180 b) 160 c) 150 d) 170
(162x162)—(18x18)

144
a) 180 b) 160 c) 150 d) 170

(T (s

c) = d) _1.3'—7 ,
71 28,

)12 d) 12
71 28

20 liters of a mixture contain milk and water in the ratio 5: 3. If 4 litres of this
mixture are replaced by 4 litres of milk, the ratio of milk to water in the new
mixture will become ,

a)2:1 b)6:3 ' c)7:3 d) 8:3

@f 20 L seymenis, Wiy whnnb sesmli Siens 323 seim al@lssslso
seobgleTmel. SGEaimhs 4 ILLT svmabe ugsors 4 el Lms
CaiaalIL_Teh eRpWRID UHi Sevsnaulsh 2 sfsm UTed WHBHBID HewTswlil sl

sl bl Glediear?

a) 211 b) 6: 3 c)7:3 d) 8:3

If the length of the sides of a triangle are 11 cm, 60 cm and 61 cm, then its area is
a) 660sg. cm b)330sq.cm c) 145 sq. cm d) 310 sgq. cm

@@ (WECETIMHSHM Uubsmssn 11 GFl 60 GF.f wihmib 61 GF.u sersn
DR LFUILIGTRY] 6laTLISH]

a) 660sqg. cm b)330sq.cm ¢) 145 sg. cm d) 310 sg.cm

Find the area of the iron sheet required to prepare a cone of 24 cm height with
base radius 7 cm.

a) 704 cm’® b) 7.04 cm”’ c)0.704 cm’ d) 0.0704 cm”

24 Gl 2 wmb wBmn sgudsso e 7 GFEl 2 el @ Fmiby Hurhiss
BHemaulLITsm GUHIDY HBFHHIET LGl HT6mHH.

a) 704 Gz b) 7.04 G& .8 c) 0.704 Q. d) 0.0704 G
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The simple interest on a sum of money for 3 years at 6% is Rs 90. The simple
interest on the same sum for 6 years at 7% will be

a) 90 b) 210 c) 270 d) 180

6% aulwullsh 3 SELEBEEEE @ GCaTasuws Hallallg |0 aeflsy =G
CapTansseg 6 HamBEEnHE 7% 2l ly aEsHD salsv Halally aeisuars?
a) 90 b) 210 c) 270 d) 180

The simple interest on a certain sum of money for 2 )2 years at 12% per annumiis
Rs 20 less than the simple interest on the same sum for 3 Jiyears at 10% per
annum. Find the sum

a)Rs 400 b) Rs 625 ¢)Rs 750 d) Rs 800

@0 GUUUILL GleTansdsE amLsilly 12% seubburgl 2 Y2 almldHsien

S SGHID SHellsul puimersl 10k OmTansdsd simLailly 10% sennbBureal 3 7
aUGHLHB D SenspHid Hanougsow el 20 Gapsy seiiey HH Ot
sTaucuaT a7 '

a) Rs 400 b) Rs 625 c)Rs 750 d) Rs:800

A, B and C starts at same point and same direction te run around a circular
station A complete in 252 secs, B in 308 secsand C in 198 secs. After what time
they meet again at the starting point

a) 26 min18sec  b) 42 min 36 secs | ¢) 45 min d) 46 min 12 sec
A, B, Celaip 3 Buiiss @6 LsiieimstT Gy Hoaulsy whmin 67 GCHIHHs0
GULLLOTS 2 GiTal aﬂ@&ﬂiﬁ}i@ Bi_ovst @BSmTissT. Bt A stesut 252
Grmgmsiieond B 308nGpmassiab C 198 Onmgsafieud eflsmenun [ sLsneo
HRMIEGTTEST. DIEUT ST ApRIHLD siUblumapsl Slembdiy @Bl SHls0  FhasULTTHeT
a) 26 KL 1018 Ginrig. b) 42 difiLib 36 GisTig

c) 45 B d) 46 Kb 12 Gipmig

Find the missing number
[ ] ‘ : B
l (3] 5 ? l [ 1} ‘ 70 . '-J 1 ’l__' i} ‘|'
‘ I { | & I | ? | -
| | J
a)1 b)2 c)6
(VYT O () £ T S o1 e =
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a)l

Find the missing value from the given alternatives
[, T ]
| ‘-\_ll L r

b) 1140 c) 2880 d).3240
Weitenpld UL Galee allful L walenuds ssnfily -

N /)

20160 A4 /,
. N /-
A

e 4

//'.!li

. F
\“_‘_J
480 ’ \\\__ e
-"\‘
‘ 24 N

.

| 7
W’

a) 860 b) 1140 c) 2880 d) 3240

If the average of the values 3, 6, 7, 8, 5 and x is 8. Find the value of x.

a)12 o 4 & b) 13 c) 10 d) 9

9, 607, 8, 3 wimnb x sysSwsuimlenr synafl 8 aslsd X 6l WSO SiTewis
a)12 - b) 13 c) 10 d) 9

Find the standard deviation of 40, 42 and 48. If each value is multiplied by 3, find
the standard deviation of the new data

a) 2 b) V32 ¢) V104 ¢

40, 42, 48 saiip @usiat alarbhHmens H L alndsd SreHis. Reubsurm
& pp 3 =50 Gumssiubin Burgl Slen S LSl (0Bl |HEThE S TE
FHI_LallevdbHID HTenH

a)@ b) V132 ¢) V104 d)"’ﬁz—”—’*

69. Which one of the following cannot be lengths of sides of a triangles
a)4cm, 11cm, 16cm b) 5cm, 9cm, 13cm
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c) 6cm, 8cm, 12¢cm d) 7cm, 10cm, 11cm

SHNL UMDY 615 (WWSHEHTONHHEN LHHRBTEN HeTRE6NTS DEIDWLTEH7
a)4 Gs.f, 11 G5, 16 G&.f b)5 G&.uf, 9 GQu.f, 13 G&.f

c)6 Qz.b, 8 GF.b, 12 Ge.d d) 7 Geif, 10 Gz.b, 11 G

Find the number of days from 21* February 1900 to 4™ June 1900

a) 105 b) 103 c) 102 d) 104

1900 spb syewh Wigefl 21 sub Bxd wsHsv ofsdr 4 sy Bxd (wpigw
S1EHGHEMe [HTL_HSIT S _sllaTaHl7

a) 105 b) 103 ¢) 102 d) 104

A man ate 100 grapes in 5 days. Each day, he ate 6 more grapes than those he ate
on the earlier day, How many, grapes did he eat on the first day

a)g b) 12 c) 76 d) 54

@meuT  @aubTm HIEHD (WPhHW BT FTONLCL  HFTL ena6rein

srenTenlib eIl el 6 HIT enFsell FabHeurs FTULINBBGIT S BTl sstilsy 100
HITLmaFsamsn FTONCLTL (pHO HI6T Seui aTillL  Simleng Hensi

R (o Evits St b S () ) g ‘

a)8 b) 12 c) 76 d) 54

A 220 m long train is running at a speed of 60kmj/h. In how much time will it cross
a platform of length 460m? :

a) 41. 5 seconds b) 38. 7 seconds ' c¢) 40.8 seconds d) 42. 4 seconds

220 8L T Bemupsism OsFLir susmngiLmeng 608518/ el sisim  Beuss 5550
ClFso&imal. eafish 460, il penpsiten el GsnLenil &L LLISHE seualsTaY
Cwyi 61(hHHIS6IENTEHD T

a) 41. S'Gﬂiaulnu}$af|' ' b) 38, 7 sllennigsmenn  ¢) 40.8 ellsnmgasit  d) 42. 4 sileumigamssi

Three numbers are in the ratio 3: 4 and their L.C.M is 2400. Find their H.C.F
a)ao" b) 80 c) 120 d) 200

ApeTml Gl 3: 4 3 eleiy alldHHHe0 smhalETeT. Disumlsar 0.8 w0 2400
alaney oypumilen . Glur.en  &HTem

a)40 b) 80 c) 120 d) 200

The standard deviation of 10 observation is 42 . If each observation is
multiplied by 3. Find the new standard deviation.

a) V2 b) 2V3 c) 122 d) 3V2

10 et edlsugmisssiisnn &L allsvasLD 44/2. Sihysie sllenyHsHlei WS ILESm6T
@eubleureienmiyth 3 2ysd GumEs S dan ysiu Sl dledsn wirg?

a) V2 b) 2v/2 c)12V2 d) 332
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ROSE : 912822 :: MICE: ?
a) 139322 b) 14182422 c) 13182422 d) 149322
ROSE : 912822 . :MICE: ?
a) 138322 b) 14182422 €) 13182422 d) 149322

A man bought an old bicycle for Rs. 1,250. He spent Rs. 250 on its repairs. He
then sold it for Rs. 1, 400. Find his loss percentage.

a) 6.67% b) 6.60% c) 6.68% d) 6.65%

@M FHUT @ Usnpwl wmlensmrsmnganuRs. 1,2505@% aummiissntt. DHanenF
FruBssRs. 250 blFsvey GFlHTT T 2Hemen Rs. 1,400&E almmrm. sufls
BUL FHalHHonsHd HTenls.

a)6.67% b) 6.60% ) 6.68% d) 6.65%

Find the smallest whole number which is exactly divisible by 1%, 2&,3%, and 4%
a) 252 b) 154 c) 322 d) 454"
11,1 .. 1. . . . W, .
1—3-, 2;, 35, LoD 435[91@ STGTITEBATITEY QU@L danlgul WsSFFAII (WD el 61817
a) 252 b) 154 c) 322 d) 454

Find the least number which increased by 3 jsexactly divisible by 10,12, 14, 16.
a) 1680 b) 1677 c) 1697 d) 1670

sifhis Ffl siediisomi sl 3 amligennsd g1 I, 12, 14 wimub 16 sy6b engupn?
a) 1680 b) 1677 : c) 1697 d) 1670

The LCM of two numbers is 36 times that of their HCF. The product of the
numbers is 3600. Find their HCF.

a)io _ b) 15 c)8 d) 20

@yen@. aemmaisn 1.4 weansma oEs @yen) eremsetie 16.6GUT.aLCuTsy 36
LOL_ (i@ ieunnfen GLimaHsbUssi 3600 seis Seummien 1f.GIUT.ey.  eTadeN?
a)10 b) 15 c)8 d) 20

sy (2222)+ (2

i U ¢

a)1 b) 0 d)

on(52E) (2)
Gi(hB (5B =
E‘_‘rJ La—) }r4_._t2‘1r2 :IJ'Z

a)l b) 0 d)

x*

2

x*

32

If A,B,C,D,E are Natural Numbers and A+B=C, 2B = E, B+C =D, B+E = A. Then write
in ascending order.
a)B,EA,CD b) E,B,C,A,D c)B,C,EAD d) B,C,E,D,A
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A,B,C,D,E sy slsmer Bluish sisomadsit wimub A+B=C, 2B=E,B+C=D,B+E=A
STEGY s mIsUTamFUIsy  6T1(LDHIB.
a) B,E,A,C,D b) E,B,C,A,D c)B,C,EA,D d) B,C,E,D,A

From which one of the following data the triangle ABC cannot formed?
a)AB=BC=CA b) AB = 2BC =3CA

c) 4AB = 2BC=3CA d) AB = BC = 2CA

Lismsumeusmsummisit ABC aiaiip (ip&Camamisansd 2 (HouThs (PQLITH «lugid sisl?
a)AB=BC=CA b) AB = 2BC =3CA

c) 4AB =2BC=3CA d) AB = BC = 2CA

Find the perimeter of square whose area is equal to that of a circle with
perimeter 2mr

a) 2mr b) Vmr c) am d) avmr

2Tr smmene) 9 siTen el LA uFliusTald & FHITHSET ilsTaD F1ob
gIeMey FHITHSH G HNMEsY 15T 7

a) 2mr b) Vrr: c) 4w d) 4ﬁ

A certain sum of money amounts to Rs. 6,372 in 3 years at 6% on simple interest.
Find the principal

a) Rs. 5,000 b) Rs. 4,500 c) Rs. 5,400 d) Rs. 4,000

@m Gl Oatawras 6% et g ainsssh 3 syamhsaisy m 6,372
UHMBHI 16060 DIF6N60H S IT6MISH:

a) m. 5,000 b)im. 4,500 ¢) @. 5,400 d) m. 4,000

A ribborvis eutinto 3 pieces in the ratio 3 : 2 : 7. If the total length of the ribbon is
24m. Find the'length of each piece respectively.

a) 6m, 4m, 14m b) 14 m, 4m, 8m

c) 6 m, 16m, 4m d) 4m, 6m, 14m

24§ men(psiten @ filust 3 : 2 : T slanm al@lGHed 3 Hiii(hadsnTs

Glsu L OUp&BaEl aanet @ablaTm SiegsT Hemd (LenBGUL  sisire !

a) 6f, 45, 146 b) 14 (f, 4f, 8

c) of, 161ff, 4uf d) 418, 6f, 148

Find the ratio form of 4 years to 8 months

a)4:8 b)8:4 c)i1 2 d)6:1
8 WTHRISEHHEG 4 suMHLBIGT sIUSHT alldHlH aUgaID sTeie ]
a)4:8 b)8:4 c)l:2 d)6:1

00. IfA:B=4:6,B:C=18:5, findtheratioofA:B:C
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a)A:B:C b) A:B:C

12 : 5:18 51:12:18
c) A:B:C dA:B:C

12 : 18:5 18 : 12:5
A:B=4:6,B:C=18:5awmils A:B:C-ulsr alashanssd Hrems
a)A:B:C b) A: B:C

12 : 5:18 5:12:18
c) A:B:C d A:B:C

12 : 18:5 18 : 12:5

Vaideesh deposits Rs 500 at the beginning of every month for 5 years in post
office. If the rate of interest is 7.5%. Find the amount he will receive at the end of
5 years

a)Rs 35718.75 b) Rs 37518.75

€) Rs 37581.75 d) Rs 35817.75 _

smeugiery sleailedT (.500 @sublurmi wWIHsH GETLSesaIn i Slehdsusdsisy 5
2 hEahEHEF LraushsiEiamnr. o'y afsb 75% sealsh 5 &abHmen

apigalad anT Glusnd GlaTans saimise|”?

a) 5.35718.75 b) 3751875 c) @5.3738175 d) 35817.75

Fill in the blanks:

If a,b,c,I,m are in A.P, then the value of a-4b+6c-4l+m=

a)1 b) 2 s )3 d) 0
Gamgl L @) Hens BipliLs.

a,b,c,l,m i gn Be GBI aufisauicc @aminisr a—4b+ 6c—4l+m
a) 1 b) 2 c)3 d)o

If Adenetes %, B denotes +, C denotes +, D denotes -, then find the value of
25D42C6B10AS

a)-52 b)-68 c) 52 d) 68

A szl X B eNesna. B som + » eisdns. C seomm +2m
Gisans whmw D ymas - 22 @ilésins eest 25D42C6B10AS wallins
BT .

a) -52 b)-68 c) 52 d) 68

Find the sum of the arithmetic series

5+11+17 +

a) 750 c) 850 d) 900
5411+ 17+ e 95 1803 S0l (BAHOIHIL TG FBHE0 TS

a) 750 b) 800 c) 850 d) 900
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If the sum of two numbers is 256 and their difference is 16. Then find those two
numbers?

a) 156,100 b) 110,146 c) 120,136 d) 118,138
@rswny sTemmslen Sn(hdHey 250 eummien sliHauTFiD 16 erafist osnallya(p
STEH0T e 6TTE  ST6Il&b.

a) 156, 100 b) 110, 146 c) 120, 136 d) 118, 138

In a class of 20 students, 5 students have scored 76 marks each, 7 students have
scored 77 marks each and 8 students have scored 78 marks each, then compute
the mean of the class.

a)77.51 b) 77.15 c)77.10 d) 77.01

@@ su@GuUUish 20 WTemaNise 2 6isTsiliT. DIaUTEHETHST 3 oTemsyTHsl Heul /6
wsNGUsTHEmD 7 wiemaiTast Heum 77 wHObusHEEnD. 8 WTenTsuTEsT HeuT
78 wallblusmsemin LupmpsTsent. eugGluF Fgmaf wHOGLsT ETems.
a)77.51 b)77.15 ¢)77.10 d) 77.01

The length of a string between a kite and a point on a ground i5.90.m. If the string
makes an angle 8 with the leveliof ground such that tan@ =15/8, how high is the
kite?

a)79m b) 80.m c) 79.41m d) 80.4m

M SHBREGL Sojulsd o sien @ LEeNsEo S G &l L ool
suimlenr Hemb 90 15, 2bs sullm S SHaL e tand = % 61601
omwootn Carem el (0) JHUGIHIEME aaiso &IBmMNY Hengulsdimbal
STEURNGTI®Y 2 _UITHFH0, 2 _aiemdl 7

a) 798 b)80 8 c) 79.41 18 d) 80.410

Find the probability that a leap year selected at random will have 53 Fridays
a) 7 b)2/7 c)3/7 d) 0
Fuwamiiy (wpsomwist GxThoshaasNuBln Gl LTangsy 33 Gleusielbalipeniossit
BlHHS BHBWDHE HTHID.
a): b) )2 d) 0
7 7 7

The average age of a family consist Father, Mother and a Child is 20. If after
seven years the age of a child will be 11. What was the average age when one
day before the child is born?

a) 24 b) 20 c)18 d) 16

Hhend HIL WHH Gwhmsd HBUTmIE bisremil GhIUbSHET Frmef eulighl
20. g SmyBE Ung Gphmaulss suug 11 ssils. swbms UBLLSHE
(pSB6l BT STTFT aULIZ sTaiTen ]

a) 24 b) 20 c) 18 d) 16
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20% of 25% of 20 is equal to

a)l b) 10

20s51 25% 60t 20% 6160TLIGHE0  1DSHILIL]
a)l b) 10
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